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Inorganic  Chemistry/vdkcZfud jlk;u 

Bachelor of Science (Chemistry) BSC–12/16/17 

Second Year, Examination-2019 

   Time: 3 Hours                                        Max. Marks : 40 

 

Note : This paper is of forty (40) marks containing three   

(03) Sections A,B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given there in. 

 

uksV%  ;g iz'u i=k pkyhl (40) vadksa dk gS tks rhu (03) [k.Mksa d] 

[k] x esa foHkkftr gS] f'k{kkfFkZ;ksa dks bu [k.Mksa esa fn, x, foLr`r 

funsZ'kksa ds vuqlkj gh iz'uksa ds mÙkj nsus gSA 

SECTION A / [k.M d 

Long Answer Type Questions (nh?kZ mÙkjksa okys iz'u)  

Note: Section ‘A’ contains four (04) long answer type 

questions of Nine and half (9½) marks each. 

Learners are required to answer two (2) questions 

only.   

uksV%  [k.M ^d* esa pkj (04) nh?kZ mÙkjh; iz'u fn, x;s gS izR;sd iz'u 
 ds fy, lk<+s ukS (9½) vad fu/kZfjr gS] f'k{kkfFkZ;ksa dks buesa ls 
 dsoy nks (02) iz'uksa ds mÙkj nsus gSA 
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1.  Discuss with suitable examples : 

 (a)  Lewis concept of  acids and bases 

 (b)  Bronsted and Lowry concept of acids and bases 

 leqfpr mnkgj.k nsdj le>kb;s% 

 (v)  vEyh ,oa {kkjksa dk yqbl fl¼kUr 

 (c)  vEyks ,oa {kkjksa dk czksuLVsM yk¡jh fl¼kUr 

 

2.  What are the postulates of Volence bond theory of 

 complex compunds?  Apply this theory  to explain 

 the structure of tetrahedron and  an octahedraw 

 complexes. 

 tfVy ;kSfxdksa ds la;kstdrk cU/ fl¼kUr ds eq[; fl¼kUr D;k 

 gS\ bl fl¼kUr dh enn ls prq"ÝQydh; ,o v"VÝQydh; tfVy 

 ;kSfxdksa dh O;k[;k dhft,A  

 

3.  What are transition and pseudo transition element  

 Why are they called transition elements?   Discuss 

 their position in periodic table, electronic 

 configuration and oxidation states and caused of  

 variation in their oxidation state. 

 laØe.k rFk cukoVh laØe.k rRo D;k gS\ bUgsa laØe.k rRo D;ksa 

 dgk tkrk gS\ vforlkj.kh es buds byDVªk¡fud foU;kl] 

 vkDlhdj.k voLFkkvksa dk o.kZu dj budh vkDlhdj.k voLFkkvksa 

 esa ifjoZru dks dkj.k lfgr le>kb;sA  

 

4.  What is Lanthanide Contraction? What are its  

 Causes? How does it affect Physical and chemical

 properties of  Lanthanide ? 
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 ySUFksukbM ladqpu D;k gS\ blds D;k dkj.k gksrs gS\ ;g fdl 

 izdkj ySUFksukbM rRoksa ds HkkSfrd ,oa jlk;fud xq.kksa dks izHkkfor 

 djrk gS\ 

SECTION B / [k.M [k 

Short Answer Type Questions (y?kq mÙkjh; iz'u) 

Note:  Section ‘B’ contains eight (08) short  answer type 

 questions of four (04) marks each. Learners are 

 required to answer four ( 04) questions only 

uksV%  [k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn, x;s gS izR;sd iz'u 

ds fy, pkj (04) vad fu/kZfjr gS] f'k{kkfFkZ;ksa dks buesa ls dsoy 

pkj (04) iz'uksa ds mÙkj nsus gSA 

Q4 Write the electrode reaction occuring  at : 

              (i)  Saturated calomel electrode. 

   (ii)  Pt / Fe2+, Fe3+ 

 fuEu dh byDVªksM vfHkfØ;k dks fyf[k;sA 

 (v) l¡r`Ir dSyksey byDVªksM 

 (c) Pt / Fe2+, Fe3+ 

 2  Explain followings  : 

 (i) Ligand 

 (ii) Co-ordination Number 

 fuEu dks le>kb;sa% 

 (v)  fyxS.M 

 (c) milgla;kstu la[;k 

3.  Explain with reason : 

 (i) Size of  Zr and Hf almost same. 

 (ii) Hg is liquid at normal temperature. 
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 dkj.k lfgr le>kb;sA 

 (v)  Zr ,oa Hf ds vkdkj yxHkx cjkcj gSA  

 (c) lkekU; rki ij Hg nzo gSA  

4.  Write short Notes on the following : 

 (i) Chelates 

 (ii) Importance of  Chelates 

 fuEu ij laf{kIr fVIi.kh fyf[k;s 

 (v)  phySV 

 (c) phySV dh mi;ksfxrk, 

5. Complete and Balance following quations : 

 KI + NHyCl 
���  ���
�				
 

 C6H6 + SO3        

 ��
 (�)
�			
  

 fuEu vfHkfØ;kvksa dks iw.kZ ,oa larqfyr djksaA 

 (v)  KI + NHyCl 
���  ���
�				
  

 (c)  C6H6 + SO3 ��2 (�) 

6.  (i)  What is rust ? How rusting takes plate ?  

 (ii) What is electrode polenta ? 

 (v)  tad D;k gS] tad yxus dh izfØ;k dSls gksrh gS\ 
 (c) byDVªksM foHkr D;k gSA 
7.  Explain followings  : 

 (i) Levelling Effect 

 (ii) Effect of  Solvent on  Basie Strngth 

 fuEu dks le>kb;sA 

 (v)  ysofyax izHkko] 

 (c) ewy 'kfDr ij foyk;d dk izHkko 

8.  Explain the effect of dielectric  constant on  the  

 solubiliy of ionic compounds. 

 MkbbyDfVªd dk LVsaV dk vk;fud ;kSfxdksa dh foys;rk ij iM+us 

 okys izHkko dks le>kb;sA 
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SECTION C / [k.M x 

Objective Type Questions / oLrqfu"B iz'u 

Note:  Section ‘C’ contains ten (10) objective type questions 

of half (½) mark each. All the questions of this 

section are compulsory. 

uksV%  [k.M ^x* esa nl (10) oLrqfu"B iz'u fn, x;s gSA izR;sd iz'u ds 

 fy, vk/k (1@2) vad fu/kZfjr gS] bl [k.M ds lHkh iz'u 

 vfuok;Z gSA 

 

1.  The number of unpaired electrons in Mn2+ are : 

 (i)  4 (ii) 5 (ii) 6 (iv) 7 

 Mn2+ esa v;fXer bysDVªku dh la[;k gSA  

 (i)  4 (ii) 5 (ii) 6 (iv) 7 

2. Hybridization in square planer complex compound 

 will  be : 

 (i)   Dsp2   (ii) Sp3  

 (iii)  Sp3d   (iv)   Sp2  

 oxkZdkj leryh; tfVyksa esa ladj.k gksxkA 

 (i)   Dsp2   (ii) Sp3  

 (iii)  Sp3d   (iv) Sp2 

3. Conjugate base of CH3COOH is 

(i)  H20   (ii)  H3
+0  

(iii) CH3COO-  (iv)  All of  these 
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CH3COOH dk la;qXeh csl gSA 

(i)  H20   (ii)  H3
+0  

(iii) CH3COO-  (iv)  ;s lHkh 

4 The oxidation state of  Ni in  [Ni (Co)4]is :. 

 (i) 0 (ii) 2 (iii) 3 (iv) 4 

 Ni dh [Ni (Co)4] esa vkDlhdj.k voLFkk gSA 

 (i) 0 (ii) 2 (iii) 3 (iv) 4 

 

5.  If a Spoon of copper metal is put into a solution of  

 Ferrous sulphate, then : 

  

(i) Cu Precipitated out 

(ii) Iron will Precipitated out 

(iii) Cu and Fe both will Precipitated out 

(iv) Reaction is not possible 

;fn dkWij dh pEep ÝsQjl lyÝQsV ds fofy;u esa Mkyh tkrh gS 

 rcA 

(i)  vo{ksfir gksxkA 

(ii) vk;ju vo{ksfir gksxkA 

(iii)  Cu ,oa Fe nksuksa vo{ksfir gksxsa 

(iv) vfHkfØ;k lEeaHkr ugh gSA 
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6. Which is protogenic  solvent ? 

 (i)  HCN  (ii) CHCl3  

 (iii) CCL4  (iv) AlCl3 

 fuEufyf[kr esa izksVªksftfud foyk;d gSA 

 (i)  HCN  (ii) CHCl3  

 (iii) CCL4  (iv) AlCl3 

 

7. Which of following element does not belong to  

 actinide ? 

 (i) Cm  (ii) Pu  

 (iii) CC  (iv) Th 

 fuEufyf[kr esa dkSu lk rRo ,fDVukbV Js.kh ls lEecfU/r ugh gS\ 

 (i) Cm  (ii) Pu  

 (iii) CC  (iv) Th 

8. Effective atomic  number of fe in  K4 [fe (CN)6] is : 

 (i) 35  (ii) 36  

 (iii) 37  (iv) 38 

  

9. Correct relationship is : 

 (i) ∆G° = -nE°F 

 (ii) F = - ∆GE°n 

 (iii) E° = ∆G°F / n 

 (iv) None of these 
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  lgh lEcU/ gS% 

 (i) ∆G° = -nE°F 

 (ii) F = - ∆GE°n 

 (iii) E° =  ∆G°F / n 

 (iv) buesa ls dksbZ ugh 

10. Which Electronic  configuration has maximum  

 magnetic moment: 

 (i) 3d5   (ii) 3d7  

 (iii) 3d9   (iv) 3d3 

 fdl byDVªkfud foU;kl dk vf/dre f}/zqo v?kq.kZ gS\ 

 (i) 3d5   (ii) 3d7  

 (iii) 3d9   (iv) 3d3 

 

***** 

 

 


